

JOURNAL OF MATHEMATICAL ANALYSIS AND APPLICATIONS 36, 103–109 (1971)

On Principal Solutions of Nonlinear Differential Equations

G. LADAS

*Department of Mathematics, University of Rhode Island,
Kingston, Rhode Island 02881*

Submitted by Peter D. Lax

1. In this paper we are concerned with the oscillation and asymptotic behavior of principal solutions of nonlinear differential equations of the form

$$y^{(n)} + f(x, y, y', \dots, y^{(n-1)}) = 0, \quad 0 \leq x < \infty, \quad f \in C[\mathbf{R}_+, \mathbf{R}^n, \mathbf{R}]. \quad (1.1)$$

A principal solution $y(x) \equiv y(x, \alpha)$ of (1.1) at the point $\alpha \geq 0$ is defined by the conditions

$$y(\alpha) = y'(\alpha) = \dots = y^{(n-2)}(\alpha) = 0, \quad y^{(n-1)}(\alpha) = 1. \quad (1.2)$$

We assume that principal solutions $y(x, \alpha)$ of (1.1) are defined for all $\alpha \geq 0$ and exist for all $t \geq 0$, but uniqueness is not required. The differential equation (1.1) is said to be oscillatory if for every $\alpha \geq 0$ the principal solution $y(x, \alpha)$ has at least one zero in (α, ∞) . Otherwise (1.1) is said to be non-oscillatory.

Our results generalize well-known oscillation theorems of Leighton and Nehari [2, pp. 371–375]. Similar results were also obtained in Refs. [1] and [3], but only for special cases of Eq. (1.1).

2. We first prove the following lemma.

LEMMA 2.1. *If $y(x)$ is a solution of (1.1) such that*

$$f(x, y(x), y'(x), \dots, y^{(n-1)}(x)) \geq 0, \quad x \geq \alpha \geq 0, \quad (2.1)$$

then

$$\lim_{x \rightarrow \infty} y^{(n-1)}(x) = \lim_{x \rightarrow \infty} (k-1)!(x-\alpha)^{1-k} y^{(n-k)}(x), \quad k = 1, 2, \dots, n, \quad (2.2)$$

and both limits are finite.

Proof. Integrating (1.1) k times over $[\alpha, x]$ we obtain

$$y^{(n-k)}(x) - \sum_{j=0}^{k-1} \frac{y^{(n-k+j)}(\alpha)}{j!} (x - \alpha)^j + \frac{1}{(k-1)!} \int_{\alpha}^x (x-t)^{k-1} f(t, y(t), \dots, y^{(n-1)}(t)) dt = 0. \quad (2.3)$$

Since $f(t, y(t), \dots, y^{(n-1)}(t)) \geq 0$, (1.1) and (2.3) yield the inequality

$$y^{(n-k)}(x) - \sum_{j=0}^{k-1} \frac{y^{(n-k+j)}(x)}{j!} (x - \alpha)^j + \frac{1}{(k-1)!} (x - \alpha)^{k-1} |y^{(n-1)}(\alpha) - y^{(n-1)}(x)| \geq 0,$$

and from this it follows that

$$(k-1)! y^{(n-k)}(x) (x - \alpha)^{1-k} + O\left(\frac{1}{x - \alpha}\right) \geq y^{(n-1)}(x). \quad (2.4)$$

From (1.1) and (2.1) it follows that

$$y^{(n)}(x) \leq 0, \quad x \in [\alpha, \infty);$$

therefore the function $y^{(n-1)}(x)$ is nonincreasing in $x \in [\alpha, \infty)$ and so the $\lim_{x \rightarrow \infty} y^{(n-1)}(x)$ exists and is a finite number.

Now from (2.4) we obtain

$$\liminf_{x \rightarrow \infty} (k-1)! y^{(n-k)}(x) (x - \alpha)^{1-k} \geq \lim_{x \rightarrow \infty} y^{(n-1)}(x). \quad (2.5)$$

Again from (2.3) and any point $x_1 \in (\alpha, x)$ we get the inequality

$$y^{(n-k)}(x) - \sum_{j=0}^{k-1} \frac{y^{(n-k+j)}(\alpha)}{j!} (x - \alpha)^j + \frac{1}{(k-1)!} \int_{\alpha}^{x_1} (x - x_1)^{k-1} f(t, y(t), \dots, y^{(n-1)}(t)) dt \leq 0.$$

From this and (1.1) we obtain

$$(k-1)! y^{(n-k)}(x) (x - \alpha)^{1-k} - y^{(n-1)}(\alpha) + O\left(\frac{1}{x - \alpha}\right) + \left(\frac{x - x_1}{x - \alpha}\right)^{k-1} [y^{(n-1)}(\alpha) - y^{(n-1)}(x_1)] \leq 0,$$

and so

$$\limsup_{x \rightarrow \infty} (k - 1)! y^{(n-k)}(x)(x - \alpha)^{1-k} \leq y^{(n-1)}(x_1). \tag{2.6}$$

Since (2.6) holds for all $x_1 \in (\alpha, x)$ and since $\lim_{x_1 \rightarrow \infty} y^{(n-1)}(x_1)$ exists, we conclude by letting $x_1 \rightarrow \infty$ that

$$\limsup_{x \rightarrow \infty} (k - 1)! y^{(n-k)}(x)(x - \alpha)^{1-k} \leq \lim_{x \rightarrow \infty} y^{(n-1)}(x). \tag{2.7}$$

From (2.5) and (2.7) the desired result (2.2) follows. Both limits are finite since as we observed previously $y^{(n-1)}(x)$ is a nonincreasing function of $x \in [0, \infty)$.

THEOREM 2.2. *Let the following conditions be satisfied:*

(i) $f(x, x_1, x_2, \dots, x_n)$ is nondecreasing in $x_i \geq 0, i = 1, 2, \dots, n$, and $f(x, 0, 0, \dots, 0) \geq 0$ for $x \geq 0$.

(ii)
$$\int_0^\infty f(t, t^{n-1}, t^{n-2}, \dots, t, 1) < \infty.$$

Then (1.1) is nonoscillatory. Moreover, for α sufficiently large the principle solution $y(x) \equiv y(x, \alpha)$ of (1.1), together with all its derivatives up to order $n - 1$, are positive for $x > \alpha$ and

$$\lim_{x \rightarrow \infty} x^{1-k} y^{(n-k)}(x) = \frac{1}{(k - 1)!}, \quad k = 1, 2, \dots, n. \tag{2.8}$$

Proof. Let $\epsilon > 0$ be given, $\epsilon < 1$. Choose $\alpha_0 \geq 0$ large enough to assure that

$$\int_{\alpha_0}^\infty f(t, t^{n-1}, t^{n-2}, \dots, t, 1) \leq \epsilon. \tag{2.9}$$

This is possible because of (ii).

We shall prove that the conclusion of Theorem 2.2 is true for any $\alpha \geq \alpha_0$.

For simplicity we set $y(x) \equiv y(x, \alpha)$. From (2.3) and (1.2) we easily get

$$(x - \alpha)^{k-1} = (k - 1)! y^{(n-k)}(x) + \int_x^\alpha (x - t)^{k-1} f(t, y(t), \dots, y^{(n-1)}(t)) dt, \tag{2.10}$$

$k = 1, 2, \dots, n.$

We now claim that $y^{(i)}(x) > 0$, $x \in (\alpha, \infty)$, $i = 0, 1, \dots, n-1$. If the claim were false there should exist a point $\beta > \alpha$ such that for $i = 0, 1, \dots, n-1$, $y^{(i)}(x) \geq 0$ in (α, β) while $y^{(j)}(\beta) = 0$ for some j .

By (i),

$$f(t, y(t), y'(t), \dots, y^{(n-1)}(t)) \geq 0, \quad x \in [\alpha, \beta],$$

and by (2.10) we get

$$(x - \alpha)^{k-1} \geq (k-1)! y^{(n-k)}(x), \quad \alpha \leq x \leq \beta, \quad k = 1, 2, \dots, n. \quad (2.11)$$

Applying (2.10) for $k = n - j$ at the point $x = \beta$ and using (i), (2.11), and (2.9) we obtain the following contradiction:

$$\begin{aligned} (\beta - \alpha)^{n-j-1} &= (k-1)! y^{(j)}(\beta) + \int_{\alpha}^{\beta} (\beta - t)^{n-j-1} f(t, y(t), \dots, y^{(n-1)}(t)) dt \\ &\leq (\beta - \alpha)^{n-j-1} \int_{\alpha}^{\beta} f\left(t, \frac{(t - \alpha)^{n-1}}{(n-1)!}, \frac{(t - \alpha)^{n-2}}{(n-2)!}, \dots, (t - \alpha), 1\right) dt \\ &\leq (\beta - \alpha)^{n-j-1} \int_{\alpha}^{\beta} f(t, t^{n-1}, t^{n-2}, \dots, t, 1) dt \\ &\leq (\beta - \alpha)^{n-j-1} \int_{\alpha}^{\infty} f(t, t^{n-1}, t^{n-2}, \dots, t, 1) dt \leq \epsilon (\beta - \alpha)^{n-j-1}. \end{aligned}$$

Therefore the claim is correct. (2.11) holds for all $x \geq \alpha$ and

$$f(t, y(t), \dots, y^{(n-1)}(t)) \geq 0, \quad t \geq \alpha.$$

Now (2.10) for $x \geq \alpha$ gives

$$\begin{aligned} (x - \alpha)^{k-1} &\leq (k-1)! y^{(n-k)}(x) + (x - \alpha)^{k-1} \int_{\alpha}^{\infty} f(t, y(t), \dots, y^{(n-1)}(t)) dt \\ &\leq (k-1)! y^{(n-k)}(x) + (x - \alpha)^{k-1} \int_{\alpha}^{\infty} f(t, t^{n-1}, \dots, t, 1) dt \\ &\leq (k-1)! y^{(n-k)}(x) + (x - \alpha)^{k-1} \int_{\alpha_0}^{\infty} f(t, t^{n-1}, \dots, t, 1) dt \\ &\leq (k-1)! y^{(n-k)}(x) + \epsilon (x - \alpha)^{k-1}, \end{aligned}$$

and so from this and (2.11), which is true for any β , we get

$$(1 - \epsilon) \leq (k-1)! (x - \alpha)^{1-k} y^{(n-k)}(x) \leq 1, \quad x \geq \alpha. \quad (2.12)$$

Then (2.8) follows from (2.12) and the fact that ϵ is arbitrary.

Under certain conditions on $f(t, x_1, x_2, \dots, x_n)$, Theorem 2.2 has a converse, i.e., conditions (i) and (2.8) imply (ii). This is the case, for example, if $n = 4$ and $f(t, x_1, \dots, x_4) \equiv p(t)x_1$, as was shown in Ref. [2].

A more general condition on $f(t, x_1, \dots, x_n)$ to obtain the previous converse is to assume that for all $A_k, k = 1, \dots, n - 1$, there exists an M fixed such that

$$\int_0^\infty f(t, A_{n-1}t^{n-1}, \dots, A_1t, 1) dt \geq M \int_0^\infty f(t, t^{n-1}, \dots, t, 1) dt \quad (2.13)$$

In fact, one can prove something more, viz.,

THEOREM 2.3. *Assume that condition (i) of Theorem 2.2 is true. Assume that condition (2.8) holds for some solution (not necessarily principal) of (1.1). Then*

$$\int_0^\infty f(t, A_{n-1}t^{n-1}, \dots, A_1t, 1) dt < \infty, \quad (2.14)$$

where

$$A_k = \frac{1}{k!}, \quad k = 1, 2, \dots, n - 1.$$

Proof. For $\epsilon > 0, \epsilon$ sufficiently small, and from (2.8), it follows that for $x \geq x_0, x_0$ sufficiently large,

$$y^{(n-k)}(x) > \left[\frac{1}{(k-1)!} - \epsilon \right] x^{k-1} > 0, \quad x \geq x_0. \quad (2.15)$$

Integrating (1.1) over $[x_0, x]$ we get

$$y^{(n-1)}(x_0) - y^{(n-1)}(x) = \int_{x_0}^x f(t, y(t), y'(t), \dots, y^{(n-1)}(t)) dt. \quad (2.16)$$

Define

$$\bar{A}_k = \left[\frac{1}{(k-1)!} - \epsilon \right], \quad k = 1, 2, \dots, n - 1.$$

We have

$$A_k = \lim_{\epsilon \rightarrow 0} \bar{A}_k, \quad k = 1, 2, \dots, n - 1,$$

and \bar{A}_k decreases in $\epsilon, k = 1, 2, \dots, n - 1$.

Using (2.15) and (i) it follows from (2.16) that

$$y^{(n-1)}(x_0) - y^{(n-1)}(x) \geq \int_{x_0}^x f(t, \bar{A}_{n-1}t^{n-1}, \dots, \bar{A}_1t, 1) dt. \quad (2.17)$$

Taking limits in (2.17) as $x \rightarrow \infty$ and as $\epsilon \rightarrow 0$, and using the monotone convergence theorem in the right side of (2.17), we get

$$y^{(n-1)}(x_0) - 1 \geq \int_{x_0}^{\infty} f(t, A_{n-1}t^{n-1}, \dots, A_1t, 1) dt. \quad (2.18)$$

The desired result follows from (2.18) by observing that the left side of (2.18) is a finite number.

THEOREM 2.4. *Let the following conditions be satisfied:*

- (i) $f(x, x_1, x_2, \dots, x_n)$ is nondecreasing in $x_i \geq 0$, $i = 1, 2, \dots, n$, and $f(x, x_1, x_2, \dots, x_n) > 0$ for $x \geq 0$, $x_1 > 0$;
 (ii) For all $\alpha > 0$ and $A_i > 0$, $i = 0, 1, 2, \dots, n - 2$,

$$\int_0^{\infty} f(t, A_{n-2}(t - \alpha)^{n-2}, \dots, A_1(t - \alpha), A_0, 0) dt = \infty. \quad (2.19)$$

Then for all $\beta \geq 0$ the principal solution $y(x) \equiv y(x, \beta)$ of (1.1) has at least one zero in (β, ∞) , i.e., (1.1) is oscillatory.

Proof. If the theorem were false there should exist a $\beta \geq 0$ such that $y(x, \beta) > 0$, $x > \beta$. It follows from (i) that

$$y^{(n)}(x) = -f(x, y(x), \dots, y^{(n-1)}(x)) < 0,$$

$x > \beta$, and so $y^{(n-1)}(x)$ is strictly decreasing in (β, ∞) . Also condition (2.1) is true and by Lemma 2.1 for $k = n$ it follows that $y^{(n-1)}(\infty) \geq 0$. Therefore $y^{(n-1)}(x) > 0$ for $x > \beta$. So $y^{(n-2)}(x)$ is strictly increasing and since $y^{(n-2)}(\beta) = 0$ it follows that $y^{(n-2)}(x) > 0$, $x > \beta$. With the same reasoning and an induction we prove that

$$y^{(k)}(x) > 0, \quad x > \beta, \quad k = 0, 1, 2, \dots, n - 1. \quad (2.20)$$

Applying Taylor's theorem to $y^{(k)}(x)$ around $\alpha > \beta$ we obtain

$$\begin{aligned} y^{(k)}(x) &= y^{(k)}(\alpha) + y^{(k+1)}(\alpha)(x - \alpha) + \dots + y^{(n-2)}(\alpha) \frac{(x - \alpha)^{n-2-k}}{(n - 2 - k)!} \\ &\quad + y^{(n-1)}(\xi_k) \frac{(x - \alpha)^{n-1-k}}{(n - 1 - k)!}, \end{aligned}$$

where $\alpha \leq \xi_k \leq x$, $k = 0, 1, 2, \dots, n - 2$.

Defining

$$A_k = \frac{y^{(n-2)}(\alpha)}{k!}, \quad k = 0, 1, 2, \dots, n - 2,$$

it follows that

$$y^{(k)}(x) > A_{n-2-k}(x - \alpha)^{n-2-k}, \quad k = 0, 1, 2, \dots, n - 2, \quad (2.21)$$

and $y^{(n-1)}(x) > 0$ for $x > \alpha$.

Integrating (1.1) over $[\alpha, x]$ and using (i) and (2.21) it follows that

$$\begin{aligned} 1 &\geq y^{(n-1)}(\alpha) - y^{(n-1)}(x) = \int_{\alpha}^x f(t, y(t), y'(t), \dots, y^{(n-1)}(t)) dt \\ &\geq \int_{\alpha}^x f(t, A_{n-2}(t - \alpha)^{n-2}, \dots, A_1(t - \alpha), A_0, 0) dt. \end{aligned}$$

Since the left side is independent of x while the right side, by (2.19), goes to ∞ as $x \rightarrow \infty$, the above relation is a contradiction and Theorem (2.4) is proved.

REFERENCES

1. I. T. KIGURADZE, The problem of oscillation of solutions of nonlinear differential equations, *Differencial'nye Uravnenia* 1 (1965), 995-1006.
2. W. LEIGHTON AND Z. NEHARI, On the oscillation of solutions of self-adjoint linear differential equations of the fourth order, *Trans. Amer. Math. Soc.* 89 (1958), 325-377.
3. P. K. WONG, On a class of nonlinear fourth order differential equations, *Ann. Mat. Pura Appl.* 81 (1969), 331-346.